[image: C:\Users\kim\Documents\Scanned Documents\Image (6).jpg]
[bookmark: _GoBack][image: C:\Users\kim\Documents\Scanned Documents\Image (7).jpg]
image1.jpeg
PHYSICS
WORKSHEET
ANGULAR DISPLACEMENT
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1. A neutron star can have a mass three times that of the sun and a radius as small as 10.0 km. If a particle
travels +15.0 rad along the equator of a neutron star, through what arc length does the particle travelP—__
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2. John Glenn was the first American to orbit Earth, In 1962. He circled Earth counterclockwise three times
in less than 5 hours aboard his spaceship Friendship 7. Ifhis distance from the Earth’s center was 6560
km, through what arc length did Glenn and his spaceship travel?
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3. Jupiter’s diameter is 1.40 x10° km. Suppose a-space vehicle travels along Jupiter’s equator with an
angular displacement of 1.72 rad. Through what arc fength does the space vehicle move?
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In 1981, the space shuttle Columbia became the first reusable space craft to orbit Earth. The shuttle’s total
angular displacement as it orbited Earth was 225 rad, How far from Earth’s surface was Columbia if it
moved through an arc length of 1.50 x10°km? Use 6.37 x10° km for Earth’s radius.

S. Mercury, the planet ¢losest to the sun, has an orbital radius of 5.8 x10”km. Find the angular displacement of
Mercury as it travels through an arc length equal to the radius of Earth’s orbit around the sun (1.5 x10%km).
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ﬂ{ From 1987 through 1988, Sarah Covington-Fulcher ran around the United States, covering a distance of
1.79 x10* km.If she had run that distance clockwise around Earth’s equator, what would her angular
({ displacement have been? (Earth’s average radius is 6.37 x10° km).

7 (6/ Casa Rinconada is the name given to one of the largest ceremonial structures, or kivas, in the Chaco
Canyon area of northwestern New Mexico. Built nearly a thousand years ago, Casa Rinconada’s inner wall
has a radius of 10.0 m. If you were fo walk counterclockwise along this wall, so that your angular

_displacement was 5.7 rad, what arc length would you travel through?

q &7 The Pantheon in Rome is the oldest surviving domed building. The dome is a hemisphere with a radius of
21.8 m. Suppose you were to walk inside the Pantheon in a circular path just underneath the dome’s.nm.
What arc fength would you have traveled through if your angular displacement was 7.50 md' clockwise?





